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01 XA 2 S FH S| 10,280 0 10,280
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NEMHAMEFI Y AL/ AIAE HH
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ZOEHOSA S ot 29 2,930 2,930 0
203 R =&l 770 770 0
03 AIBF=AH S Z=ZH| 770 770 0
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201 LEr2 Y| 4,200 4,200 0




2N
X ZH -
L= B

el

ME PR
Zojel =X =&
Zojel =SXK

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 4,200 4,200 0
NEMA2SXE =2 NHAYYARS 22+
70,0003 x5 » 123 4,200
301 LEHZ 20,330,642 18,084,230 2,246,412
= 10,165,321
Al 8,132,257
- 2,033,064
01 MEI2EZE 405z 20,330,642 18,084,230 2,246,412
N asId 20 20,330,642,000& 20,330,642
= 10, 165,321
Al 8,132,257
- 2,033,064
Zoel 252X It =0 73,920 49,648 24,272
= 36,960
Al 29,568
- 7,392
301 LA F 73,920 49,648 24,272
= 36,960
Al 29,568
T 7,392
01 MEIBEE 263 73,920 49,648 24,272
NELEBSEX JH&20 73,920,000 73,920
= 36,960
Al 29,568
- 7,392
ZOHAUESKE FHIFIHAEY 590,028 507,750 82,278
301 LB AF 586,278 504,000 82,278
01 MI2ZE 6= 586,278 504,000 82,278
N s FlF2t N
14,8053 x 110 «30A| 2t 123 586,278
308 MtXIEHSOIH 3,750 3,750 0
11 3J2SoHUHSI S HAE ALS I 3,750 3,750 0
NFEIFIF EXHR™AIAE AEAISHI
3,750,000 3,750
STEMHL ZoHelHZ KA 9,281,180 9,241,622 39,558
= 4,640,590
Al 3,364,428
- 1,276,162
301 LA F 9,281,180 9,241,622 39,558
= 4,640,590
Al 3,364,428
- 1,276,162
01 AR 2Z A5 3 9,281,180 9,241,622 39,558
NESEM oAz XA
9,281,180,000& 9,281,180
= 4,640,590




2N
X ZH -
L= B

el

Pk
Zojel =X F
Z 04Ol XX &

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,364,428
T 1,276,162
LEHMHS NEHME X3 34,800 34,800 0
307 gl2tol & 34,800 34,800 0
11T ALS S RAEE = 34,800 34,800 0
NEYHe M s X¥  4,800,0008 4,800
N MeHs X 30,000,000& 30,000
LN BHNIHEH 23 606,978 775,900 A 168,922
Al 475,000
- 131,978
201 Let24d] 79,200 79,200 0
01 At 2teltl 79,200 79,200 0
NELTHS BMNSHEH AR
6,600,000& x12& 79,200
307 21201 A 527,778 696, 700 A 168,922
Al 475,000
- 52,778
05 RIZt2IEt = 527,778 696, 700 A 168,922
NELIHe BMISHH 2L
527,778,000 527,778
Al 475,000
- 52,778
ZEZMHLESE=ERNNZ &5 1,143,066 3,127,943 A 1,984,877
401 AIEHI L 2 CHYI 1,143,066 3,127,943 A 1,984,877
01 A& HI 1,143,066 3,127,943 A 1,984,877
NLSZMHAZTE SN2 &5 SAM(SAH Z
INE=Eu ]:1p] 1,143,066, 000& 1,143,066
ZOHUIIESXNJAEH =24 201,280 199,582 1,698
Al 113,765
T 87,515
307 glz2tol & 201,280 199,582 1,698
Al 113,765
T 87,515
05 RIZt2IE = 201,280 199,582 1,698
DA AHE A48 & 29|
175,030, 000& 175,030
Al 87,515
T 87,515
N2ASSssHEA 26,250,000 26,250
Al 26,250
NAXEs MIMEIA SXAS (KD AIS MEIA) 255,240 239,040 16,200
s 127,620
Al 80,370
T 47,250
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